How Hot Is That?

The Problem:

Which is hotter – a blistering 43°C in the Arizona desert or a dazzling 110°F in Kos?

You can convert from Centigrade to Fahrenheit temperatures using the exact, but awkward, formula 
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F=C+32
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or the quick, but approximate, formula F = 2C + 30

What we want to know is:

1
Does the quick formulae ever give exactly the right answer?

2
For what range of Centigrade temperatures does the quick formula give an answer that’s within 5°F of the correct value?

3
Is the quick formula good enough for our British climate?

Solutions:

There’s opportunity here to use linear equation algebra, straight line graphs and spreadsheets.

Algebraic approach:

1
the same answer will be given for F when
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F=C+32=2C+30
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1

leading to C=2and

5

C=10


Spreadsheet approach:

2


	C
	F (exact) = 1.8 x C + 32
	F (quick) = 2 x C + 30
	Difference

	0
	32
	30
	2

	5
	41
	40
	1

	10
	50
	50
	0

	15
	59
	60
	-1

	…
	…
	…
	…


Changing the Fill values in the first column until the difference comes out as between –5 and +5 gives us a range –15  C  35 within which the quick formula is good to 5° .

Graphic approach:
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